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INTERMEDIATE EXAMINATION – 2021 (ANNUAL) 

 Model Set 

BIOLOGY 

Total No. of questions – 70 + 20 + 6 = 96 
dqy iz’uksa dh la[;k & 70 $ 20 $ 6 ¾ 96

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as 

far as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- mÙkj nsrs le; ijh{kkFkhZ ;FkklaHko 'kCn&lhek dk /;ku j[ksaA 

While answering the questions, candidate should adhere to the 

word limit as far as practicable. 

4- bl iz’u i= dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k 

x;k gSA 

15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 70 
iw.kkZad & 70 

119 
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This question paper has two sections: Section-A and Section-B. 

6- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 35 iz’uksa ls vf/kd iz’uksa ds mÙkj nsus ij izFke 35 iz’uksa dk gh 

ewY;kadu fd;k tk,xkA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA budk mÙkj 

nsus ds fy;s miyC/k djk;s x;s OMR&mÙkj i=d esa fn;s x;s lgh òÙk dks 

dkys@uhys ckWy isu ls HkjsaA fdlh Hkh izdkj ds OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk mÙkj iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk 

ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions, out of which 

any 35 questions are to be answered. If more than 35 questions 

are answered, then only first 35 will be evaluated. Each question 

carries 1 mark. Darken the circle with blue/black ball pen against 

the correct option on OMR-Answer Sheet provided to you. Do not 

use Whitener/Liquid/Blade/Nail etc. on OMR Answer Sheet, 

otherwise the result will be invalid. 

7- [k.M&c esa 20 y?kqmÙkjh; iz’u gSaA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA 

ftuesa ls fdUgha 10 iz’uksa ds mÙkj nsuk vfuok;Z gSA blds vfrfjDr bl [k.M 

esa 06 nh?kZ mÙkjh; iz’u Hkh fn, x, gSaA izR;sd iz’u ds fy, 05 vad fu/kkZfjr 

gSaA ftuesa ls fdUgha 3 iz’uksa ds mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 20 Short answer type questions. Each  

carrying 2 marks, out of which any 10 questions are to be 

answered. Apart from this, there are 6 Long answer type 
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questions, each question carries 5 marks, out of which any 3  

questions are to be answered.  

8- fdlh rjg ds bysDVªkWfud midj.k dk bLrseky iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

Section –A 

Objective Type Questions 

iz'u la[;k 1 ls 70 rd izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x, lgh fodYi dks OMR mÙkj&i=d ij fpfUgr djsaA 

fdUgha 35 iz’uksa dk mÙkj nsaA       35 x1 = 35 

Question Nos.- 1 to 70 have four options, out of which only one is 

correct. You have to mark your selected option, on the OMR Sheet. Answer 

any 35 questions.        35 x1 = 35 

1- xq.klw= ds ;wØkseSVhu dh D;k fo’ks"krk gS \ 

A- vkuqoaf’kdr% lfØ; gksrk gSA  B- mnklhu gksrk gSA 

C- vkuqoaf’kdr% fuf"Ø; gksrk gSA  D- nksuksa B rFkk C 

What is the importance of Euchromatin of chromosome ?  

A. Genetically active   B. Neutral 

C. Genetically inactive   D. Both B and C 

2- fte dksjcSV jk"Vªh; m|ku fdlds fy, fo[;kr gS \ 

A- jkbuks     B- 'ksj  
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C- ck?k      D- dkyk&cd 

Jim Corbett National Park is famous for - 

A. Rhino     B. Lion   

C. Tiger     D. Black-buck 

3- gkbczhM Hkhxj ¼ladj 'kfDr½ fuEukafdr esa ls fdl ?kVuk ds dkj.k gksrh gS \ 

A- fofue;     B- dkb,stek  

C- le;qXetrk     D- fo"ke;qXetrk 

Hybrid Vigour is due to which event in the following ? 

A. Crossing over    B. Chiasma   

C. Homozygosity    D. Heterozygosity 

4- euq"; dk vo’ks"kh vax fuEukafdr esa ls dkSu gS \ 

A- vaxwBk     B. fiUuk 

C. dkWfdDl     D- isfYHkd 

Which of the following is the vestigial organ of human ?  

A. Thumb     B. Pinna 

C. Coccyx     D. Pelvic 

5- gheksdksfj;y vijk fuEukafdr esa ls fdlesa ik;k tkrk gS \ 

A- 'k’kd     B- euq";  

C- ?kksM+k      D- buesa ls lHkh esa 
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Haemochorial placenta is found in which of the following ? 

A. Rabbit     B. Human being  

C. Horse     D. All of these 

6- dkSu lk ijkx.kdrkZ iq"Ik dh xa/k ls vkdf"kZr ugha gksrk gS \ 

A- 'kyHk     B- frryh  

C- i{kh      D. pexknM+ 

Which pollinator is not attracted by scent of a flower ?  

A. Moth            B. Butterfly 

C. Bird       D. Bat 

7- euq"; esa ek=kRed y{k.k dk ,d mnkgj.k dkSu lk gS \ 

A. vk¡[kksa dk jax    B- Ropk dk jax   

C- cky dk jax     D- ukd dk vkdkj 

An example of the quantitative trait in man is - 

A. Colour of eye    B. Skin colour   

c. Hair colour    D. Shape of nose 

8- og dkjd@,tsaV tks dSalj iSnk djrk gS] mls D;k dgrs gSa \ 

A- dkjlhuksek     B- dklhZukstu 

C- vkWUdksthu     D- esVkLVSfll  

The agent that tends to produce cancer is called as - 
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A. Carcinoma    B. Carcinogen  

C. Oncogene    D. Metastasis  

9- U;wfDyd vEy fdrus izdkj ds gksrs gSa \ 

A- 1      B- 2 

C- 3      D- 4 

How many types of nucleic acid are there ? 

A- 1      B- 2 

C- 3      D- 4 

10- ,d ikfjra= esa igyk VªkWfQd Lrj gksrk gS \ 

A- izkFkfed mRiknd    B- f}rh; mRiknd 

C- izkFkfed miHkksDrk    D- f}rh; miHkksDrk 

The first trophic level in an ecosystem consists of  

A. Primary producers   B. Secondary producers 

C. Primary consumers   D. Secondary consumers 

11- dksf'kdh; thu dk uke crk,¡ tks lfØ; gksus ij dSalj dk dkj.k cu ldrs 

gSa \ 

A- vkWUdksthUl     B- izksVks&vkWUdksthUl   

C- nksuksa A rFkk B    D- lkbysUV thu~l 
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Name the cellular genes which when activated can cause 

cancer? 

A. Oncogenes    B. Proto-oncogenes 

C. Both A and B    D. Silent genes 

12- Tkhu xu fdldh enn ls thu dks dksf’kdkvksa esa izos’k djk ldrk gS \ 

A- IykfTeM     B- dkWfTeM 

C- QktfeM~l     D- lw{e NjksZ 

Gene gun can introduce genes into cells with the help of - 

A. Plasmids     B. Cosmids 

C. Phagemids    D. Microscopic pellets 

13- vkuqoaf'kdr% :ikarfjr ¶ySoj lSoj D;k gS \ 

A. pkoy     B- dikl 

C- vkyw      D- VekVj 

Flavr Savr is a genetically modified - 

A. Rice     B. Cotton 

C. Potato     D. Tomato 

14- la[;k dk lh/kk fijkfeM fuEukafdr esa ls fdlesa vuqifLFkr gS \ 

A- ou      B- ?kkl LFky   

C. >hy      D- rkykc 
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The upright pyramid of number is absent in which of the 

following? 

A. Forest     B. Grassland 

C. Lake     D. Pond 

15- Ikkfjra= esa ftldk iquuZohuhdj.k ugha gksrk gS \  

A. vkWDlhtu     B. ukbVªkstu 

C. ty       D. ÅtkZ 

Which is not recycled in ecosystem? 

A. Oxygen     B. Nitrogen 

C. Water     D. Energy 

16. 'kqØk.kq ftldk L[kyu ugha gksrk os iqu% dgk¡ vo’kksf"kr gksrs gSa \ 

A. ò"k.kdks"k     B. okl bQjsal 

C. 'kqØokgd     D. btkdwysVjh uyh 

Spermatozoa which are not ejaculated are reabsorbed in the - 

A. Scrotum     B. Vas efferens 

C. Vasdeferens    D. Ejaculatory duct 

17-   la;ksth mÙkd fdl Hkzw.kh; ijr ls curs gSa \ 

A- ,DVksMeZ     B- ehlksMeZ 
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C. ,aMks&ehlksMeZ    D- ,aMksMeZ 

Connective tissues are derived from which embryonic layer ? 

A. Ectoderm     B. Mesoderm 

C. Endo-mesoderm   D. Endoderm 

18-  X&xq.klw= dSlk gksrk gS \ 

A- ,lsfUVªd     B- ,ØkslsfUVªd 

C- esVklsfUVªd     D- VhykslsfUVªd 

X-chromosome is -  

A. Acentric     B. Acrocentric 

C. Metacentric    D. Telocentric 

19- ,ykslksEl fuEufyf[kr esa ls fdldk uke gS \ 

A- vfyax xq.klw=    B- fyax xq.klw= 

C- xq.klw= ij lwtu    D- dkbusVksdksj 

Allosomes are the name of which among the following ? 

A. Autosomes    B. Sex chromosomes  

C. Swelling on the chromosome D. Kinetochore 

20- ,.MksxSeh fuEukafdr esa ls fdlesa ik;k tkrk gS \ 

A- IykteksfM;e    B- IySusfj;k 

C- Qhrkd`fe     D- gkbMªk 
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Endogamy is found in which of the following ? 

A. Plasmodium    B. Planaria   

C. Taenia     D. Hydra 

21- enpØ fuEukafdr esa ls fdlesa ik;k tkrk gS \ 

A- euq";     B- canj 

C- xk;      D- buesa ls lHkh esa 

Oestrus cycle occurs in which of the following ? 

A. Man      B. Monkey 

C. Cow     D. All of these 

22- j.kFkEcksj jk"Vªh; m|ku dgk¡ fLFkr gS \ 

A- xqtjkr     B- jktLFkku  

C- mÙkj izns’k     D- e/; izns’k 

Ranthambore National park is located in - 

A. Gujarat     B. Rajasthan 

C. Uttar Pradesh    D. Madhya Pradesh 

23- buesa ls LFkkfud ikS/kk dkSu lk gS \ 

A- fjfD’k;k fMldyj    B- ekjdSfU’k;k ikWyhekSjQk 

C- lkbuksMkWu MSDVkbyksu   D- uhisfUFkl [kkf’k;kuk 

Which one is an endemic plant ? 
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A. Riccia discolor    B. Marchantia polymorpha 

C. Cynodon dactylon   D. Nepenthes khasiana 

24- thu Dyksfuax esa laokgd ds :Ik esa iz;qDr cká xq.klw= Mh,u, D;k gS \ 

A- Vªkalikslksu     B- baVªkWu 

C- IykfTeM     D- ,DlkWu 

Extrachromosomal DNA used as vector in gene cloning is - 

A. Transposon    B. Intron 

C. Plasmid     D. Exon 

25- Ti&IykfTeM fuEufyf[kr esa ls fdldh dksf’kdkvksa dks dk;kdfYir djrk gS\ 

A. thok.kq dk     B. fo"kk.kq dk 

C- ikS/kksa dk     D- tarqvksa dk 

Ti-plasmid transforms cells of which of the following ?  

A. Bacteria     B. Virus 

C. Plants     D. Animals 

26- ikWyhejst J`a[kyk vfHkfØ;k fdlesa mi;ksxh gS \ 

A- izksVhu la’ys"k.k esa    B- vehuks vEy la’ys"k.k esa   

C- Mh,u, la’ys"k.k esa    D- Mh ,u , izo/kZu esa 

Polymerase chain reaction is useful in - 

A. Protein synthesis   B. Amino acid synthesis 
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C. DNA synthesis    D. DNA amplification 

27- dwdjchVk ds VsfUMªYl rFkk ckSxsuohfy;k ds dk¡Vs D;k gSa \ 

A- letkr vax     B- vo’ks"kh vax 

C- vletkr vax    D- nksuksa A rFkk B 

Tendrils of Cucurbita and thorns of Bougainvillea are - 

A. Homologous organs   B. Vestigial organs  

C. Analogous organs   D. Both A and B 

28- Mkjfou ds fQUp D;k n’kkZrs gSa \ 

A- izkdf̀rd p;u    B- lekukarj fodkl  

C- vuq:irk     D- vuqdwyh fofdj.k 

Darwin’s finches show - 

A. Natural selection   B. Parallel evolution 

C. Homology     D. Adaptive radiation 

29- vkfdZ;ksIVsfjDl] thok’e i{kh fdlds chp dk ;kstd dM+h gS \ 

A- mHk;pj rFkk ljhlÌk oxZ   B- ljhlÌk rFkk i{kh oxZ  

C- mHk;pj rFkk i{kh oxZ   D- eRL; rFkk mHk;pj oxZ 

Archaeopteryx, fossil bird is connecting link between - 

A. Amphibians and Reptiles  B. Reptiles and Birds 

C. Amphibians and Birds  D. Fishes and Amphibians 
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30- ,d f}ladj fLFkfr dkSu lh gS \ 

A. Ttrr      B. ttRr 

C. TtRr     D. ttrr 

A dihybrid condition is - 

A. Ttrr      B. ttRr 

C. TtRr     D. ttrr 

31- thu ds fofHkUu :iksa dks D;k dgk tkrk gS \ 

A- iwjd thu     B- fo"ke;qXeut  

C. laiwjd thu     D- ;qXefodYih 

Different forms of a gene are called -  

A. Complementary genes  B. Heterozygotes 

C. Supplementary genes  D. Allele 

32- VSisVy dksf’kdk D;k n’kkZrh gS \ 

A- lelw=h foHkktu    B- v)Zlw=h foHkktu 

C- ,aMksekbVksfll foHkktu   D- ,aMksekbVksfll rFkk cgqxqf.krk 

Tapetal cells show - 

A. Mitotic division    B. Meiotic division 

C. Endomitosis division         D. Endomitosis and polyploidy 

33- Hkzw.kdks"k fdlls curk gS \ 
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A- xq:chtk.kq     B- xq:chtk.kq/kkuh 

C- eknk ;qXedksn~fHkn    D- eknk ;qXed 

Embryo sac is formed by - 

A. Magaspore    B. Megasporangium 

C. Female gametophyte   D. Female gamete 

34- LFkkukarj.k vkj ,u , ij buesa ls D;k ik;k tkrk gS \ 

A- vkjaHkdwV     B- ifrr dwV 

C- lekiu dwV     D- fojks/kh dwV 

Which one is present on transfer RNA ? 

A. Initiation codon    B. Degenerate codon 

C. Termination codon   D. Anti codon 

35- fjHklZ VªkalfØiVst D;k gS \  

A. vkj ,u , fuHkZj Mh ,u , ikWyhesjst ,atkbe 

B- Mh ,u , fuHkZj Mh ,u , ikWyhesjst ,atkbe 

C. vkj ,u , fuHkZj vkj ,u , ikWyhesjst ,atkbe 

D- Mh ,u , fuHkZj vkj ,u , ikWyhesjst ,atkbe 

Reverse transcriptase is - 

A. RNA dependent DNA polymerase enzyme 

B. DNA dependent DNA polymerase enzyme 
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C. RNA dependent RNA polymerase enzyme 

D. DNA dependent RNA polymerase enzyme 

36- vkWisjkWu dk ,d thu tks jhizs’kj izksVhu cukrk gS] mls D;k dgk tkrk gS\  

A. vkWijsVj      B- izkseksVj thu 

C. jsxqysVj thu    D- lajpukRed thu 

A gene of operon which forms the repressor protein is called ? 

A. Operator gene           B. Promoter gene 

C. Regulator gene    D. Structural gene 

37- VsVul }kjk mRiUu fo"k fdls izHkkfor djrk gS \  

A. tcM+s dh gfM~M;ksa dks   B- LoSfPNd ekalisf’k;ksa dks  

C. vuSfPNd ekalisf’k;ksa dks   D- nksuksa B rFkk C 

Toxin produced by tetanus affects -  

A. Jaw bones           B. Voluntary muscles 

C. Involuntary muscles   D. Both B and C 

38- ,M~l fo"kk.kq esa D;k jgrk gS \  

A. ,d dqaMfyuh vkj ,u ,   B- f}dqaMfyuh vkj ,u , 

C. ,d dqaMfyuh Mh ,u ,   D- f}dqaMfyuh Mh ,u , 

AIDS virus possesses  

A. Single strand RNA          B. Double strand RNA 
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C. Single strand DNA   D. Double strand DNA 

39- rackdw dh yr fdlds dkj.k gksrh gS \ 

A. dSQhu      B- fgLVkehu 

C. dksdSu     D- uhdkVhu 

Addiction to tobacco is caused by -  

A. Caffeine            B. Histamine 

C. Cocaine     D. Nicotine 

40- ?kjsyw dpjk fdl izdkj ds iznw"k.k dk xBu djrk gS \ 

A. ok;q iznw"k.k      B- cfglzkZo 

C. tSo fuEuhdj.kh; iznw"kd   D- tSo vfuEuhdj.kh; iznw"kd 

Domestic waste constitutes which type of pollution ?  

A. Air pollution           B. Effluents 

C. Biodegradable pollution       D. Non biodegradable pollution 

41- fuEukafdr esa dkSu ty iznw"k.k dk lkekU; ladsrd tho gS \  

A. dkWysjk fHkcfj;ks     B- b dksyh 

C. lkyeksusyk VkbQh    D- ,aVvehck fgLVksfyfVdk 

Common indicator organism of water pollution in the following is - 

A. Cholera vibrio           B. Escherichia coli 

C. Salmonella typhi   D. Entamoeba histolytica 
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42- ckWEcs Md D;k gS \  

A. >haxk       B- eNyh 

C. tyh; i{kh     D- leqnzh ?kksa?kk 

Bombay Duck is - 

A. Prawn            B. Fish 

C. Aquatic bird    D. Marine snail 

43- ykblhu ls izpqj 'kfDr] jÙku rFkk izksVhuk buesa ls fdldh fdLesa gS \  

A. pkoy       B- xsgw¡ 

C. dikl     D- eDdk 

Shakti, Rattan and Protina are lysine rich varieties of which of the 

following ? 

A. Rice            B. Wheat 

C. Cotton     D. Maize 

44- cSy dk oh;Z fdlesa lafpr gksrk gS \  

A. rjy ukbVªkstu     B- rjy dkcZu MkbZ vkWDlkbM 

C. cQZ      D- buesa ls dksbZ ugha 

Bull’s semen is stored in ?  

A. Liquid Nitrogen           B. Liquid Carbon-dioxide 

C. Ice      D. None of these 

45- js’ke ds /kkxs esa dkSu lk izksVhu gksrk gS \  
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A. fdjSVhu       B- vy~C;wehu 

C. Qhczksbu     D- nksuksa B rFkk C 

Protein in silk thread is - 

A. Keratin            B. Albumin 

C. Fibroin     D. Both B and C 

46- ysfMx dksf’kdk,¡ D;k lzkfor djrh gSa \  

A. VsLVksLVsjkWu      B- izkstsLVsjkWu 

C. vks,LVªkstsul    D- dkWVhZdksLVsjkWu 

Leydig cells secrete - 

A. Testosterone           B. Progesterone 

C. Oestrogens    D. Corticosterone 

47- eq[kh xHkZfujks/kd fuEukafdr esa ls fdl la;kstu dk cuk gksrk gS \  

A. ,LVªkstsu rFkk òf) gkWeksZu   B- izkstsLVsjkWu rFkk VsLVksLVksjkWu 

C. ,LVªkstsu rFkk VsLVksLVsjkWu   D- ,LVªkstsu rFkk izkstsLVsjkWu 

Oral contraceptive is composed of which of the following 

combination ? 

A. Estrogen and growth hormone 

B. Progesterone and testosterone 

C. Estrogen and testosterone 
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D. Estrogen and progesterone 

48- Mh ,u , izfrdj.k ds nkSjk.k ySfxax LVªSUM dk fuekZ.k dSls gksrk gS \ 

A. yxkrkj@larr     B- vlarr 

C. NksVs [k.Mksa esa    D- nksuksa B rFkk C 

Lagging strand during DNA replication is formed - 

A. Continuously           B. Discontinuously 

C. In short segments   D. Both B and C 

49- Ýse&foLFkkiu mRifjorZu dc gksrk gS \  

A. tc csl dk foyksiu ;k fuos’ku gksrk gSA 

B- tc csl dk fuos’ku gksrk gSA 

C. tc csl dk foyksiu gksrk gSA 

D- tc QkWlQsV tqM+rk gSA 

Frameshift mutation occurs when - 

A. Base is deleted or added         B. Base is added 

C. Base is deleted    D. Phosphate is added 

50- Okkscy ifjdYiuk fdlds }kjk izLrkfor dh xbZ \  

A. fØd       B- fujsucxZ 

C. gkWys      D- [kqjkuk 

Wobble hypothesis was proposed by - 

A. Crick            B. Nirenberg 
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C. Holley     D. Khorana 

51- RBC ds iru dk dkj.k dkSu gS \  

A. vklsZfud ;kSfxd     B- gkbMªksdkcZu~l 

C. veksfu;k     D- lYQj ;kSfxd 

Which one cause degradation of RBC ? 

A. Arsenic compounds          B. Hydrocarbons 

C. Ammonia     D. Sulphur compounds 

52- ty izLQqVu fdlls curk gS \ 

A. gkbfMªyk ls      B- tydqaHkh ls 

C. Vªkik ls     D- IySadVksfud 'kSoky ls 

Water blooms are formed by - 

A. Hydrilla            B. Water hyacinth 

C. Trapa     D. Planktonic algae 

53- feV~Vh dk fuekZ.k fdl izfØ;k ls gksrk gS \  

A. xyu       B- vi{k; 

C. eǹktuu     D- nksuksa B rFkk C 

Formation of soil takes place by the process of - 

A. Melting            B. Weathering 

C. Pedogenesis    D. Both B and C 

54- tyksn~fHkn dh ,d fo’ks"krk D;k gS \ 
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A. rSjrs gq, iÙks     B- ,jsudkbek 

C. Mwcs gq, iÙks     D- vPNh rjg ls fodflr ¶yks,e 

A characteristic feature of hydrophytes is - 

A. Floating leaves           B. Aerenchyma 

C. Submerged leaves   D. Well developed phloem 

55- QQq¡n gkbQh varjdksf’kdh; fdlesa jgrs gSa \  

A. ,DVksekbdksjkbtk esa   B. VAM esa  

C. ,aMksekbdksjkbtk esa    D- buesa ls dksbZ ugha 

Fungal hyphae remain intercellular in - 

A. Ectomycorrhiza           B. VAM 

C. Endomycorrhiza   D. None of these 

56- fIy;ksVªkWih thu dSlk y{k.k izk:Ik n’kkZrk gS \  

A. fofHkUu thuizk:i    B- fofHkUu y{k.kizk:Ik 

C. ,d thuizk:Ik    D- ,d y{k.kizk:Ik 

Pleiotropic gene shows which type of phenotype ? 

A. Multiple genotype          B. Multiple phenotype 

C. Single genotype   D. Single phenotype 

57- fuEukafdr esa nks thuksa ds fy, fo"ke;qXeth tho dSlk gksxk \  

A. RRYY       B. RrYY 

C. RRYy     D. RrYy 
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Heterozygous organism for two genes in the following shall be ? 

A. RRYY            B.RrYY 

C. RRYy     D. RrYy 

58- fuEu esa ls dkSu lk Hkkjr dk jk"Vªh; tyh; i'kq gS \  

A. unh MkWfYQu     B- xSaxsfVd 'kkdZ 

C. nfj;kbZ ?kksM+k    D- Cyw Ogsy 

Which one is the National aquatic animal of India ? 

A. River Dolphin           B. Gangetic Shark 

C. Sea Horse    D. Blue whale 

59- bu&lhVw laj{k.k ds varxZr dkSu lk 'kkfey ugha gS \  

A. thoeaMy laj{k.k {ks=   B- okuLifrd@izkf.k m|ku 

C. jk"Vªh; m|ku    D- vH;kj.; 

Which is not included under in-situ conservation ? 

A. Biosphere reserve           

B. Botanical/Zoological garden 

C. National Park 

D. Sanctuary 

60- vk.kfod dSaph] tks Mh ,u , dks fof’k"V LFky ij dkVrh gS] og gS &  

A. isfDVust ,atkbe     B- izfrca/ku ,aMksU;wfDy,t 

C. ikWyhesjst ,atkbe    D- ykbxst ,atkbe 



23 
 

Molecular scissor, which cut DNA at specific site is - 

A. Pectinase enzyme          B. Restriction endonuclease 

C. Polymerease enzyme   D. Ligase enzyme 

61- fuEufyf[kr esa ls dkSu SCID ds fy, thu Fksjsih esa laokgd ds :Ik esa iz;qDr 

gksrk gS \ 

A. jhVªks fo"kk.kq      B- jksVk fo"kk.kq 

C. vjcks fo"kk.kq    D- iHkksZ fo"kk.kq 

Which of the following is used as vector in gene therapy for 

SCID? 

A. Retro virus           B. Rota virus 

C. Arbo virus     D. Parvo virus 

62- dkSu lk euq";ksa esa vo’ks"kh vax gS \ 

A. fufDVVSfVax f>Yyh    B- iw¡N d’ks:d 

C. vdy pg     D- buesa ls lHkh 

Which are vestigial organs in humans ? 

A. Nictitating mimbrane          B. Tail vertebrae 

C. Wisdom tooth    D. All of these 

63- chVh dikl fuEukafdr esa ls fdldk izfrjks/k djrs gSA  

A. dhVksa ls chekjh     B- thok.kq jksxtud dks 

C. lw= d`fe ijthoh    D- QQq¡n jksxtud dks 
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Bt cotton genes repel which of the following ? 

A. Insect pests           B. Bacterial pathogens 

C. Nematode parasites   D. Fungal pathogens 

64- ih lh vkj esa iz;qDr Taq ikWyhesjst dk lzksr dkSu gS \  

A. FkeksZQhfyd dod     B- FkeksZQhfyd thok.kq 

C. ehlksQhfyd dod    D- gSyksQhfyd thok.kq 

Source of Taq polymerase used in PCR is a - 

A. Thermophilic fungus          B. Thermophilic bacterium 

C. Mesophilic fungus   D. Halophilic bacterium 

65- vkuqoaf’kd vfHk;kaf=dh }kjk balqfyu ds mRiknu esa fuEukafdr esa ls fdldk 

mi;ksx fd;k tkrk gS \  

A. jkbtksfc;e ysxqfeukslSje   B- bZ- dksyh 

C. lPpsjksekblht iSlVksfj,ul  D- ekbdkscSfDVjh;e 

Which of the following is used in production of insulin by Genetic 

Engineering ? 

A. Rhizobium leguminosarum         B. Escherichia coli 

C. Saccharomyces pastorianus D. Mycobacterium 

66- ^;ksX;re dh mÙkjthfork* dk fopkj fdlds }kjk iz;qDr fd;k x;k Fkk \  

A. pkYlZ Mkjfou     B- áwxks Mh ojht 

C. gcZVZ LisUlj    D- ykekdZ 
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‘Survival of Fittest thought was proposed by - 

A. Charles Darwin           B. Hugo de Vries 

C. Herbert Spencer   D. Lamarck 

67- fuEufyf[kr esa ls fdldk mi;ksx gfjr [kkn@ tSo moZjd ds :Ik esa fd;k 

tkrk gS \  

A. pkoy       B- eDdk 

C. tbZ      D- <+Sapk 

Which of the following is used as green manure/biofertilizer ? 

A. Rice            B. Maize 

C. Oat      D. Daincha 

68- fuEukafdr esa ls dkSu lk ,d thokf.od dhVuk’kd gS \  

A. cSlhyl lCVhfyl    B- cSlhyl ikWyhfeDlk 

C. cSlhyl Fkwfjuth,afll   D- cSlhyl czsfHkl 

Which of the following is a microbial insecticide ? 

A. Bacillus subtilis           B. Bacillus polymyxa 

C. Bacillus thuringiensis   D. Bacillus brevis 

69- fuEufyf[kr esa ls dkSu gkseks lsfi;Ul dk izR;{k iwoZt gS\  

A. jkekfiFkhdl     B- gkseks bjsDVl 

C. vkWLVªSyksfiFkhdl    D- gkseks fu,aMjFkSysfUll 

Which among the following is direct ancestor of Homo sapiens ? 
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A. Ramapithecus           B. Homo erectus 

C. Australopithecus   D. Homo neanderthalensis 

70- okfgrey ty ds izkFkfed mipkj esa fuEukafdr esa ls dkSu lk dne 'kkfey 

gS\ 

A. ok;oh; thokf.od xfrfof/k  B- fuL;anu rFkk volknu 

C. vok;oh; thokf.od xfrfof/k  D- voey ikpu 

The primary treatment of sewage water involves which of the 

following step ? 

A. Aerobic bacterial activity         

B. Filtration and sedimentation 

C. Anaerobic bacterial activity 

D. Sludge digestion 

Section-B 

Short Answer Type Questions

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; iz’u gSaA buesa ls fdUgha 10 iz’uksa dk mÙkj nsaA 

izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA      10x2=20 

Question nos. 1 to 20 are Short Answer Type questions. Answer any 10 

questions. Each question carries 2 marks.    10x2=20 

1- dfydk rFkk i= izdfydk dks mnkgj.k dh lgk;rk ls ifjHkkf"kr dhft,A2 
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Define Buds and Bulbils with the help of suitable examples. 

2- f}fo[k.Mu rFkk cgq&fo[k.Mu dks mnkgj.k ds lkFk crkb,A  2 

Explain Binary Fission and Multiple Fission with examples. 

3- fdrus izdkj ds izfrca/ku ,atkbe gksrs gSa\ muds uke fyf[k,A  2 

How many types of restriction enzymes are there ? Write their 

names. 

4- fuEukafdr dks ifjHkkf"kr djsa %       2 

A. Dyksfuax LFky    B. ekbØksbatsD’ku 

Define the following : 

A. Cloning site    B. Microinjection 

5- izkf.k;ksa esa O;ogkfjd vuqdwyu ij fVIi.kh fyf[k, A   2 

Write comments on practical adaptations in animal. 

6- cU/;dj.k ls D;k le>rs gSa \ fdUgha nks fof/k;ksa ds uke crk,¡A  2 

What do you understand by sterilization? Name any two 

methods. 

7- fdUgha pkj vkuqoaf’kd jksxksa ds uke crk,¡A     2 

Name any four genetic diseases. 

8- fuEukafdr dks ifjHkkf"kr dhft, %      2 

A. lgizHkkfork     B. viw.kZ izHkkfork  

C. izHkkoh      D. vizHkkoh 

Define the followings : 
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A. Co-dominance    B. Incomplete Dominance 

B. Dominant     D. Recessive 

9- vksisjkWu dks ifjHkkf"kr dhft, rFkk blds la?kVd thuksa dk uke crkb;s A   2 

Define the operon and name its constituent genes. 

10- fofHkUu izdkj ds vkj ,u , ds uke crkb;sA    2 

Name the different types of RNAs. 

11- tho dks’k ls D;k le>rs gSa \      2 

What do you understand by Gene pool ? 

12- vilkjh rFkk vfHklkjh fodkl esa varj crk,¡A    2 

Explain the difference between divergent and convergent 

evolution. 

13- rhu ladVkiUu tkfr;ksa dh Jsf.k;ksa dks mnkgj.k lfgr ifjHkkf"kr dhft,A2 

Define the categories of three threatened species with examples. 

14- ihM+d&izfrjks/kh ikS/kk D;k gS \ laf{kIr fooj.k nhft,A   2 

What is pest resistant plant ? Give brief description. 

15- [kk| J`a[kyk ls D;k le>rs gSa \ fdUgha nks izdkj dh [kk| J`a[kyk dk uke 

crkb,A           2 

What do you understand by Food-chain ? Name any two types of 

food-chains. 

16- fuEukafdr jksxksa ds jksxtud dk uke fyf[k,A    2 
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A. vehfc;kfll    B. eysfj;k 

C. ,Ldkfj;kfll    D. U;weksfu;k 

Write the name of the causal organism of the following diseases. 

A. Amoebiasis    B. Malaria 

C. Ascariasis    D. Pneumonia 

17- tSo moZjd fdl izdkj ls e`nk dh moZjrk dks c<+krs gSa \   2 

How do biofertilizer increase soil fertility ? 

18- ehFksu ds lzksr ,oa nq"izHkko dks crkb,A     2 

State the source and side-effects of Methane. 

19- iqadslj rFkk L=hdslj dks fp= dh lgk;rk ls ifjHkkf"kr dhft,A 2 

Define stamens and pistil with the help of diagram. 

20- nks 'kdZjk mRiknd ikS/ks dk oSKkfud uke crkb,A    2 

Name the scientific name of two sugar producing plants. 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; iz’u gSaA buesa ls fdUgha 3 iz’uksa ds mÙkj nsaA 

izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA mÙkj vf/kdre 120 'kCnksa esa gksus pkfg,A  

           3x5=15 

Question nos. 21 to 26 are Long Answer Type questions. Answer any 3 

questions. Each question carries 5 marks. Give your answer in about 120 

words.          3x5=15 
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21- vksisjkWu ladYiuk ls D;k le>rs gSa\ ySd vksisjkWu dks lfp= le>k,¡A 5 

What do you understand by operon concept ? Explain the Lac-

operon with the help of diagram. 

22- fuEukafdr iz’uksa ds mÙkj nsa %&    ¼1$ 2 $ 2¾ 5½ 

A. ,dhd`r ihM+d izca/ku ls D;k le>rs gSa \ 

B. eqxhZikyu D;k gS\ blds ykHk fyf[k,A 

C. lw{e iztuu ls D;k le>rs gSa\ blds ykHk fyf[k,A 

Answer the following questions :- 

A. What do you understand by integrated pest management ? 

B. What is poultry ? Write its benefits. 

C. What do you understand by micropropagation? Write its 

benefits. 

23- fuEufyf[kr esa varj Li"V djsaA    ¼2½ x 2 = 5½  

A. izfrtSfod rFkk baVjQsjkWu 

B. tSo moZjd rFkk ck;ksxSl 

Differentiate the following : 

A. Antibiotic and interferon. 

B. Biofertilizer and Biogas. 

24- fuEukafdr esa ls fdUgha nks dk o.kZu djsa %&   ¼2½ x 2 = 5½ 

A. thu fofue;   
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B. eSlsYlu rFkk LVkWy dk iz;ksx   

C. LFkkukukUrj.k vkj ,u , dk izlaLdj.k 

D. thok.kqHkksth dk ykblkstsfud pØ 

Describe any two of the following :- 

A. Crossing over 

B. Meselson and Stahl’s experiment   

C. Processing of tRNA 

D. Lysogenic cycle of Bacteriophage 

25- fuEukafdr esa fdUgha nks dks dsoy fp= }kjk n’kkZ,¡ %& ¼2½ x 2 = 5½ 

A. thok.kq dksf’kdk esa f}fo[k.Mu 

B. lelw=h foHkktu dh esVkQst voLFkk 

C. vko`Ùkchth ikni ds chtk.M dh lajpukA 

Show any two with the help of labelled diagram/sketch only. 

A. Binary fission in Bacterial cell. 

B. Metaphase stage of mitotic cell division. 

C. Structure of ovule of an Angiospermic plant. 

26- fuEukafdr dks ifjHkkf"kr djsa     1 x 5 = 5 

A- thukse 

B- cgq&fodYirk   

C- ?kkrd thu 
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D. xq.klw= foiFku 

E. o.kkZU/krk 

Define the followings :- 

A. Genome 

B. Multiple allelism 

C. Lethal gene 

D. Chromosomal aberrations 

E. Colour blindness 

 


